Date: 6-Aug-12


Program No-1
WAP to find the factorial of a number entered by user
Source Code:

# include<stdio.h>

# include<conio.h>

int factorial(int n)

{

 int a=1;

 for(int i=1;i<=n;i++)

 a=a*i;

 return a;

}

void main()

{

 int n,fact;

 printf("\n Enter the no:");

 scanf("%d",&n);

 fact=factorial(n);

 printf("\n The factorial is %d",fact);

 getch();

}
Output:
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Program No-2
WAP to multiply two matrices
Source Code:
# include<stdio.h>

# include<conio.h>

void main()

{

clrscr();

int i,j,k,l,m,n,p,q,A[10][10],B[10][10],C[10][10];


printf("Enter the no. of rows of first matrix\n");



scanf("%d",&m);



printf("Enter the no. of columns of first matrix\n");



scanf("%d",&n);



printf("Enter the no. of rows of second matrix\n");



scanf("%d",&p);



printf("Enter the no. of columns of second matrix\n");



scanf("%d",&q);



if(p==n)



{



printf("Enter the elements in first matrix\n");
for(i=1;i<m+1;i++)



{




for(j=1;j<n+1;j++)




{         printf("Enter the value of A[%d][%d]",i,j);





scanf("%d",&A[i][j]);




}
}



for(i=1;i<m+1;i++)



{       for(j=1;j<q+1;j++)




{      printf("Enter the value of B[%d][%d]",i,j);




      scanf("%d",&B[i][j]);




}           }


       for(i=1;i<m+1;i++)



{            for(j=1;j<q+1;j++)




{         C[i][j]=0;





for(k=1;k<p+1;k++)





C[i][j]+=A[i][k]*B[k][j];




}



}



printf("Result matrix\n");



for(i=1;i<p+1;i++)




{     for(j=1;j<q+1;j++)





printf("%d\t",C[i][j]); printf("\n");




}       }

else

{

printf("Matrix cannot be multiplied...");

}

getch();

  }

Output: 
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Program No-3

WAP to show function overloading
Source Code:

# include<stdio.h>

# include<conio.h>

int area(int,int);

int area(int);

float area(float);

void main()

{

clrscr(); 

    int n,len,brd,sid,cal,cal2,ch;

     float cal1,rad;

      do{

          printf("*** Area Calculator ***");

         printf("\n1.RECTANGLE");

         printf("\n2.CIRCLE");

         printf("\n3.SQUARE");

         printf("\nEnter your choice:");

         scanf("%d",&n);

         if(n==1)

         {

                 printf("\nEnter the length:");

                 scanf("%d",&len);

                 printf("\nEnter the breadth:");

                 scanf("%d",&brd);

                 cal=area(len,brd);

                 printf("\nThe area of rectangle is:%d units",cal);

                 }

                 else if(n==2)

                 {

                 printf("\nEnter the radius:");

                 scanf("%f",&rad);

                 cal1=area(rad);

                 printf("\nThe area of circle is:%f units",cal1);

                 }

                 else if(n==3)

                 {

                     printf("\nEnter the side:");

                     scanf("%d",&sid);

                     cal2=area(sid);

                     printf("The area of square is:%d units",cal2);

                     }

                     else

                     printf("\n** Wrong choice **");

                     printf("\nWant to enter more(1 for yes/0 for no):");

                     scanf("%d",&ch);

                     if(ch==0)

                    break;
                     }while(ch==1);

                     printf("\n*** Thank You ***");

                    getch();

                    }

                    int area(int a,int b)

                    {

                        int r;

                        r=a*b;

                        return r;

                        }

                        int area(int x)

                        {

                            int s;

                            s=x*x;

                            return s;

                            }

                            float area(float y)

                            {

                                  float p;

                                  p=3.14*y*y;

                                  return p;

                                  }

Output:         
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